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7681.7 x 0.01 =

8804.2 x 0.001 =

6150.6 x 0.001 =

6663.2 x 0.01 =

4172.2 x0.01 =

6270.2 x 0.0001 =

9300.7 x 0.1 =

7663.8 x 0.0001 =

8891.7 x 0.001 =

8764.4 x 0.001 =

9462.9 x 0.01 =

=N

3208.7 x 0.01 =

4039.2 x 0.0001 =

6434.5 x 0.001 =

7085.2 x 0.1 =

1514.1 x 0.001 =

1017.9 x 0.1 =

3887.4 x 0.0001 =

9702.8 x 0.0001 =

9953.3 x0.01 =
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7681.7 x0.01 = 76.817

8804.2 x 0.001 = 8.8042

6150.6 x 0.001 = 6.1506

6663.2 x 0.01 = 66.632

41722 x0.01 = 41.722

6270.2 x 0.0001 = 0.62702

9300.7 x 0.1 = 930.07

7663.8 x 0.0001 = 0.76638

8891.7 x 0.001 = 8.8917

8764.4 < 0.001 = 8.7644

=LA

9462.9 x 0.01 = 94.629

3208.7 x 0.01 = 32.087

4039.2 x 0.0001 = 0.40392

6434.5 x 0.001 = 6.4345

7085.2 x 0.1 = 708.52

1514.1 x 0.001 = 1.5141

1017.9 x 0.1 = 101.79

3887.4 x 0.0001 = 0.38874

9702.8 x 0.0001 = 0.97028

9953.3 x0.01 = 99.533
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